012 APRIL - 1990

FIRST B.Pharm. EXAMINATION, APRIL 1990.
BIOSTATISTICS AND MATHEMATICS.

Time : Three hours. Maximum : 75 marks.

Answer any FIVE questions.

1. (@) Resolve into partial fractions |

2x 4+ 7

x4+ 1D (x+2)(x—3)
(b) Sum to infinity the series

1 142 1+2+3
+ + - =
1! 2! 3!
(¢) Show that
| 1 1 1 1 1 )
log,3 =log,2+2 { + % + X + ... %
5 3 5 5 5 }
(54+6+4=15 marks)
D (@) If
1 2 —1 1 0 07
A=[3 0 2J and B:[z 1 0]
4 3 0 Lo 1 3]
verify that (AB)T = BTAT.

{6) Prove that AU (BnC)=(AUB)n(AUCQ).
(¢c) Solve: ¥ — X+ xt—1=0.
(74345=15 marks)
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(@) Expand cos68 in a series of powers of sin®. 7. (@) Calculate the coefficient of correlation :

(b) Find dy/dx when X: 15 35 20 30 45 40

x + y = sinx + siny. Y: 65 10 40 35 15 20

X g : - |

: . (b) What is the probability that the leap year 1992

() Differentiate [ — WAL, X. will contain 53 Sundays ? (847=15 marks)
(G+5+5=15 marks) g (@) Describe different methods of sampling.
Integrate w.r.t. x (b) Given x = 65 3_:_—_ 67
(@ xt(®— 1)13 g, =25 ¢,=35 7,,=08
fi i jon. = :
(b) »logx ind the two lines of regression (8 4+7=15 marks)
{¢) sin x . cos x. (5+5+5=15 marks) 9. Write short notes on any three :
(¢) Bar diagrams.
Solve : _
(b) Rank correlation.

dy xX—y
(@) = (¢) Random numbers.

dx e (d) Use of statistical methods in medicine.

dy 1 (15 marks)
(b) + y = cosx

dx X
() €ydx + dy = 0. (3%x5=15 marks)

3. (@) What 1is Dispersion ? Describe the various

weasures in common use.
(b) Calculate the mean and variance from
Values : 10 15 20 25 30

Frequency : 6 20 66 24 5
(847=15 marks)
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012

FIRST B.Pharm. DEGREE EXAMINATION, OCTOBER 1980.
Paper IV — MATHEMATICS AND BIOSTATISTICS
Time : Three hours. Maximum ;: 75 marks.
Answer any FIVE guestions.

1. (a) Resoive into partlal fractions
x+1

(x—1)2(x~2)

(b) Sum to Infinity tha serles
3 3.7 3.7.114

T +"'_+ + +-+r
5 3. 10 5.10.15

(c) Show that

ne m— n | M — 1 %3
i) mod k] mn
1 A ---n)’ ]
e ——— | ———— )} A L.
3 i+ n

2. (a) If

1 2 3 1 3 2
A=13 —1 2 e B =[2 =1 3
5 3 —i 302 —f

prove that AB = BA.
(&) Prove AN(BUC) = (AnB)U{aANC).

(54545 =15 marks)



(e} IfF & == cos4isind A0
y = cos¢ +ising prove that
1
2 o e = 2 o8 (M 4 N}
zHy (54545 == 15 marks}

(&} Expand cos'd sin®d In & series of multiples of d.

(b) Find dy/dx when

X

() ¥ rmmmem =
1=t

(i) 2% b y® = Sxv. (5 4 (225} = 15 marks)

Iintagrate wrt x

{2) lan’ ¥ et v

{h) extxe
() xter (54545 = 15 marks)
Sl
dy Xy
(e =
e ¥t 4yt
cly Bty X
b)) — 4 - =

{c) ten v socisdy |- tenx . seciydy = 0,
{54545 = 15 marks)

OCTOBER - 1990

8. {x! Account for the predominant use of the AM
as a megsure of central tendency.

(B} Calcuiate the mean and standard deviation
From »
Glass J0—40 40—50 50—60 60—70 TO—80 B80—30

Fregquency 18 a7 45 27 15 8
(748 = 15 markse)

7. (&) Calculate the coefficient of correlation
£ £5% TD O EBS 30 @9 40 50
Yo J9 B0 TR 40 95 40 60

(&) A 3-digit number is chesen at rendom. What is
the probability that the sum of the digits is 25.
(105 = 15 marks]

a. (a} Discuss the CENSUS and SAMPLE methuds of
collecting data in relation to merits and defects.

i) Celculate the means and coefficient of correla-
tion from the regression equations
2y — x = 50

Iy — 20 = 10 (B47 = 15 marks)

1=

Write short notes on any three :

(a2) Fraguency table,

(&} Ogivas.

(e} CooHiclent of variation.

("' Conditional probability. (15 marks)



APRIL - 1991
03y

FIRST B.PFHARM. DEGREE EXAMINATION, APRIL 1991
MATHEMATICS AND BIDSTATISTICS
Time : Threz hours. Alaximum : 75 marks.

SECTION A — ({6 x 3 = 30 marks)

Answer any 31X guestions.
All guestions carry equal marks.

1. Hesolve into partial fractions :
2n 43
g {d4nt — 1)
3 37 3.7.11
i aum  the  SEfes == 4 + F+ oianeea 1]
3 5.10 3.00015
imfinity.
3. Expand ¢os 6@ in powers of sin B
4. Find the derivative of sin 2x from first principles.

5. Evaluate | xVa — ot de.
[

6. From 25 tickes numbéred one to 23, one ticket is drawn
at random what is the probability that the number on it is a
multipie of 3 or 7.

7. Find the coefhcient of correlation given:
EX=42 ZEY=T8
EXi=342 ZX¥ =594 EYi=1060 n=46
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g, Calculate the variance of
22 1 32 37T 42 4F 3 3T B2

. Write shorl rowes on
(@) frequency polygon.
tb)y rank coreslation.

SECTION B — {35 niarks)
Answer any THREE guestions.
10, (a} Defing staristics and discu=s its role in medicine and
pharmoey.
{b) The following table gives prowin intake of 400
families

Fiotein inteke (g per person Mumber of [omilies

15—25 30
25—33 40
33—45 100
4353 110
55463 &0
65—73 30
15—483 10
Total 400

Caleulate the mean and medisn. (7 4 B = 15 marks)

2

[1. (a) Discuss the warious metheds of collecuon of data.

ib) The serum calcium levels of 10 persons are given
below. Calculats the standard dewiation :

105 10.0 1K 0.4 110

i1.2 10.4 11.2 1.3 109
{3 + 7 = 15 marks)

12, (a) What are (he varices methods of taking sample {rom
& popilaiion 7

(b} Mention the addition and multplication laws of
prabability and give an example of each.

¢} Describe 'statistical inference’, Give an example for
each wype of statistical inference. 6+ 4+ 3 = 15 marks)

15, (a) Dwfine FPearson’s correlation coefliclent. How s i
easured T Mennon s uszs and Imbations,

(b} Fit a straigh: {ine fer the fellowing datz and estimate
the value of ¥ for X = 35:

Koo 15 38 al 19 12 23

Y : 54 Fi] a5 o4 it a3
{6+ 9= |5 marks)
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[RS531]
FIRST B.Pharm, DEGREE EXAMINATION,
{Old and New Regulations)

Paper IV — MATHEMATICS AND BIOSTATISTICS
Time : Three hoars Maximum : 75 marks
Answer Sections A and B in separate angwer books.
SECTION A — (6 x 5 = 30 marks)

Answer any SLX questions,

1. Resolve into partial fractions ;

(z+1)
{3z +2) (2z +1)

2. Sum to infinity the series :
11 1 1.1 1
jfatetatstatetr

(Here n! denotes “factorial a™)

3 If
2 =1 1 g 1 2!
"1’[1 0 z] ““dﬂ‘[n 1 3
find 34 =20,
4.  Bhow that

(cos § — i sin §) {cos 20 + i sin 29)*

— e =1
(cos 38 + ¢ sin 30)~7 (cos 49 + ¢ sin 48]
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5. Expund sie 58 in powers of sin & and cos @,
8 1fy=sin h~' =z, show that y = log, (= + V=7 + ).

7, Differentiate =7 from the first principles.

B. Ewvaluate : jii.n 1z sinz de.

dy =+
E. E.I:IIFE ' E = ry "

SECTION B — (3 x 15 = 45 marks)
Answer any THREE questions,
10. A University hospital has a record of 130 “successful” kidney

transplants cut of 200, Other things squal, ﬁnd_ the probability
that the next kidney transplant in this hospital will be successtul.

11.  Two slesp producing druge were admiristered to six pa-
tients sach, and the following data gives the amount of slesp (in
heurs) the patients had after taking the drugs.

DrugAd: 6 2, 4 3, 5 2

Drug®: 4, 6 7, 1, 2, &

Compere the efficiencies of the two drugs, oo the basis af
po—efficient of variations

12,  Expluin the importance of measures of cantral tnn:'len!:_-;
end measures of dispersion as tools of statistical metheods in
pharmacy.

APRIL - 1993

13, (e} Write a short note on Stratifed mndom sampling.

(b) Find mean, median and stendard deviation for the
following table of data on Protein intake/consumptionfday {gm_).

Protein mnaks/Con=- Number of
sumpticn unit/day (gm) families

15=24 a0
2= 40
a5 - 44 100
45 - 54 110
55 - 64 a0
A5 - Td 30
75 < BS 10

400

14. (s} Compute the coafficient of correlation from the fol-
lewring data :

n= 10 XY = 360
EX=0 TX? =625
¥ =10 T¥? = 400

(b} The table belew gives the data obteined during g
cholera epldemic

Attacked Mot attacked
Inoculated 3 4169
Mat [noculated 185 1313

Test the elfectiveness of incculation in preventing the
attack of cholera,
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[T 1a8]

FIRST 2. Pharm, DEGREE EXAMINATION
{08d and MNew Ragulatizash
Papar |V RGATHEMATICS AND BIOSTATISTICS

Tims: Thess hours bazimum @ 79 Marks

Answer Soctlon A asd B in sepaiale anawer baoka
SECTRON A {6 x 6 = 30 merks)
Bnawer any 50X Questions

sum o infiaity :

1 1 ¥ i
P 8 [ P T E N —— .
2.3 4.5 6.7 R

ta - {Lasrnsl B= | 1470}
wd G = {:.57} verlly tha

Ap (BUC) = (AnE) U (Anf)
)
s m 3 1 z
f 1 8 0 ]
amid

i 7 0
x’r[sis]

Find & angd vy

Find rtips redl and imappard pars of
[2=—=4i)
{1+

Expond Cos 48 1 powsrs aof sin §

Shaw I1hat cos e = 147 Sin k2 &

Find i ity = 0% cog oy
dx
Evaluita ©
J' T
Dol |
L L o .

SECTION & [Fei0 = 45 4% qrim)

Angwsr sy THAEE gaesteae

1, The pechobdiiny of &4 pregnaagy resalting in @ mglgais Birth fs
180, Fimd tha prodgabilny of a pregaancy msulfting = & siagl
kirth,

1. Wiite a shart nele on sysiemadls sarealing,

12, Describe the chipd melswes Of confral  endemcy. Ingcaie fha
pitdaticns o which 1Rey 208 S2iabie,

13 fa) Test of wignificarce of tha  &ifemnce Duiwess 192 fean
anelery sowres of s Graups of ordiess lor i folbowing

daga ;
Sravp A Grouy 0
] Reiz 250
(REET 54 b
20, 10 10
[For sipnificence, £ = 188 ar 05 fevel and £ » 257 o:
a7 lave’)

{h) A sample of 507 children  swers clisshiod by sadd &0
etus end academic perlormancs,

Bpafsmin Hairsional Stanes
pridoransp poar Good

Foar 105 15
Souslocion qi 300

Tes: woether thesa s any rl":!.'ﬂiQI.:hiF [=TLLEE T T s o T

stmigs and acackEmic gerlaimante,
4. Find mean, median and stgndymd desaien for i 13%amind
t-bla of data oa groiein intako cansumpiion, Sae (gon).

Pepiesn iniake | consurmptian Bumbir of
ot fdy {fpm ) lamskas
15— 24 30
25— 34 &0
g5 —44 10t
4% — B4 bR
55 —- 64 i)
6% — 74 0
am



1.

NOVEMBER - 1994
[ND 564]
Fikst B. Pharm Dagraa Examination
[Ofd and New Reguiations)

Paper IV MATHEMATICS AND BIOSTATISTICS
Time: Thres hours Max.: 75 Marks
Answer Section A and B in separate answer books

SECTION - A (EX5=30)

Answar eny SIX guestions

Sum the sories to infinity

Given that A = {0, 1,3. 5}

B~ {1247} €~ {12358}
Prove thet

(AUB)NC = (ANC)U(BNC)

Ji D-E‘t
M A = 2 2 4, show that
lo o 2zl

& gatisfies the equation A% — 34 4+ 21 = O
Find tha modulus and ampditude aof

6. Express cosBf as & polynomiol in cosd

Prove thal sinh3x = Jsinhx + 4 3nh?y
dy diy

Find —— gnd —— ify = xScogx
dx dn®

Evalusta | log x dx.

8  Solve the differential Equation sec®y tan x

dy + secix tany dx = O
SECTION - B (1% 16=45)

Answid any THREE guestions

10, The reswvits ot Examinafions in two  papers

A and B for 20 cendidates were as follows.

8 candidates passed in paper A

7 candidares paszsed in paper B

8 candidates failed in both papers A and B

If out of these candidates one iz sslacted,
what is the probability that ho

i) Passed in both the papars
ily Failed only in A

i} Failed in A or B

11. Write short notes on stratified random sampling

12

13.

14

Dafine  Arithmetlc mean and Geomeirie mean.
Explain with suitable examples

The mean and standard deviation of 20 items
are found to be 10 and 2 respectively. At the
tima of checking it wes found that ona wWam.
8 was incorect, Celculate the mean and standard
Daviation if tha wrong iem is replaced by 12,
Give the answer correct o places afier decimel.

Caloulate the coefficient of comelsfion batwaan
% and v from the following data,

x: 1 a3 B a g 10
¥: 3 F | B 10 2 11
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[MD  BED] B, Expand sinS§ in powers of sing

FIRST B. Pharm DEGREE EXAMINATION 6. Piova that
cos hix — sin hix = 1
(Revised Regulations) .
7. Differentiate y = X

Paper IV MATHEMATICS AND BIOSTATISTICS

Evaluate
Tune : Three hows Max : 75 marks I x+3 "
Answar Section A and B in  seperate answal books M4 x4 1
Section - A (6= 5= 30) 8. Solve

(ey*+xddx + (yxi+y) dy = @
Answer sny SIE Questions.

SECTION - B (3X15 = 45)
1. Sum the seres to infinity

Answer any THREE questions.
1 13 1356

; + .EE_ 4 —.3 E-; R ST 10. The probabilities of 3 students AB,C solving a
problem in statistics are 4 § and }. A problem
2. Out of BBD boys in a collage, 224 played is mva:n o all the three studanis,
Cricket, 240 played Hockey and 336 played What is the probability that
Baskst ball; OF the total, 64 played both basket ;Mo one will soive the problem
ball and hockey: 80 played cricket and basket iy Omy oife “with Wtive e preem
ball and 40 played cricket and hockey. Hi) Atfeast one will solve the problem

24 played all the three gomes, How many did

11. Writ ri 1 i i
not play any of the gemes. rite short notes on systematic sampling

3 Find the values of a, b, ¢ and dthat satisfy 12 Define Geometric mean and Hormonic  mean.
- ) . L Explain with suitable examples,
the meinz melationship

as2 2'”‘“1 a —B 13 Find the standard Deviation of the foliowing
i« - 2. 3 -
46, 36, 40, 37, 38, 42, 45, 36, 40, 39
4. Siruplity : 14, Find the coefficient of correlation betwean
Mos2§ + isin2§)."t X and .
{Em,d‘_mn”;' x: 1 2 3 4 5 & 7 8 8

y: 1211 13 16 14 17 16 18 18
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[SB 567 4) Differentiate (32-2)  {x+4)

First B.Pharm Degree Examination %
5) Evaluste | Xe dx

(Comman to New & Revised Regulations)

Paper IV 6) Express sin 58 in powers of sin #

Mathematics and Biostatistics
Ty I ¥4y = sin fudiv) prove that

Time : Three hours Maximum : 75 marks. x® ¥E
+ =1
coghty sinh®y
Answer Section A and B in Separate answer books
. d d
Section A (5x6=30) 8) Solve y'+1t ._F_ = 1-,,.-_3..
dx dx
Answeer any SEX guestions
H‘I"‘.: _d!i_ 3 - H
1) Resolve into partial fractions ol e di B Sttt
(x=1) (x*+1p
25 258 : Section B (BIOSTATISTICS)

2
Z) Sum to infinity 14— + + C .
é a1z 61218 :
Answar any THREE questions,

) Find the inverse of the matsix
10) Explain primary and secondary source of
{T £ 3} collection of data. Bring ouwt their advantages

g : g and disadvantages. (15)



SB 567

11}

12)

13}

{a) Defcribn eny three  messures of central
tendency. £:7]

ibl Calculate the ™ean, median and mods for
the following data of 10 Hb. levels.

109 128 104 By 1.4
1.4 0.2 73 1019 121 {10}

{8} Whet &m the wvarous measures  of
diepersion ¥ Dizcuss their relative merita.  {15)

(2] What i3 corelalion coeflicient? How i
it measurad? 5

{b} Calculste the comslstion coefficient
betwesn age and systolic B.P., using the givon
data. (10

Agqe 36 45 BB 66 | 75

Sysolic | q14 | 124 | 143 | 188 168

14} [a) Whan will you use test of significance?

Give an example, {B)

APRIL - 1995

(b} A sample of 200 patients are classified
according to regulary of medication and out
come of the treatment. ks there any association
barwasn regularity of medication and the oul-

come af 1the trestmaent. {10
Cutco e
Regulaly | good | bad | Totsl
Regular 70 B0 120
Irrpgautar 20 60 80
Total g0 110 200

[Mote : 5% laval of chi square digiributian with
1df = 3.84)
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[MB 704

First B.Pharm Degree Examination
(Common to New & Revised Regulations)

Paper IV — MATHEMATICS AND BIO STATISTICS

Time : Three hours Max : 75 marks

Answer Section A and B in separate answer books

SECTION- A (6% 5=230)

Answar ainy 51X gueasiions

1. Resolve into partial fractions

Tx=1
1 - 5x+6x~
2. Show that
1 1 1

— —— f ——
11 31 51 e-—1
1 1 T a1

1+ —+ — .

21 41 :

3.

| - 1 2 3 dB = 1 -1 1
PR e g G {.‘3 2 -1\
|1 2 3f 2 1 0)

find AB and BA

Simplily (cosdd+i sindf).? (cos3§—isindf)-

(cosd —i sing)? . (cos2§+i sin2§)’

Il x+iy = sin (A+iB) prove that
:: r"'-'

- =

sin-A cos-A

N X
Differentiate X

Evaluate | xlog X dx

Solve dy X=Y

—— ] ——

dx x+y

Solve  dy L
— 4 yCOos X = — Sin 2x
dx



10.

11,

12

13.

b)

al

b)

MB 704 - NOVEMBER - 1995

SECTION—E
BIOSTATISTICS
Answer any THREE questions

Define Population and samptle. (4)
Describe any three sampling procedures (11)

What is Histogram 7 (3}

Caleulate the mean, median and mode for
the following 10 Hoemoglobin data.

153 146 123 7.4 118
"5 102 113 114 16 {12)

What is coefficient of vanatien 7
When is it used ? (4)

Calculate the standard deviation for the 10
serum protein levels, (11)

6.1 6.7 8.0 66 7.1
1.1 1.2 1.0 7.4 6.8

Mention the steps involved in 1est of
significance (s}

The following data give age at onset of a
disease and the result of treatment ol
400 patients. Test if there is any significant
association between the age at encet and
the result of treatment. (10)

3

Result of Treatment
Age at
Onser Not
Recovered Recoverad Total
Up to 24
yoarg) 146 a0 236
Above 4 110 164
24 yoars
Total 200 200 400
14, a) Explain correlation and regression (5]

b} Find the regrestion equation of eystolc
B.P. {y) on Age (x) using the following

data. (10)
Ago 35 | ¢ | 55 | 65 | 75
(x}

Systolic
BP. - 118 136 148 160 166
{v)
4
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[AK 704) Sub. Code : 4158

FIRST D.Phorm. DEGREE EXAMINATION.
Paper IV — MATHEMATICS AND BIOSTATISIICS

(Common to New/Revised Requiations)

Time : Three hours Maximum : 75 marks

SECTION A — (6 x § = 30 marke)
(MATHEMATICS)
Answer any SD{ questions,

82 -1 in to partial fractions.

R gl =iz =1

! L
Show that log, 2 + e (log, 2)* + i (log, 2)°.

2
Prove that A’ =4d -5I=0. U ds= 1l
l

2V N ]
Le Ll

Expand sin ¢# in terms of powers of s # and cva &,

g ol
- F — r . I.
If coa !r-lrlj'}--l*l'fﬂ-muﬂm mﬂ

Differentiale {sim )™ *.
Evaluate f: cos & d.
Solve : (1 #+e¥hdy = gpde = U,

Solve ; :—:+rm1-mr.
1
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[AK T04]

SECTION B — (3 x 15 = 45 marks)
(BIOSTATISTICS)

Answer any THREE nuestions.

10. (a) Explain the merits of primary and secondary dota.
(&

) Writo about any three methods of sclecting samplo
o prilation. N

1.  (a) Howwill you deaw a pie digram?  When will you use
! (G

{b) The Gme taken to fafl asleep after taking o medicine
is given for 10 cases, Caleulats the standard deviation
(9

15 35 25 20 b}
4 45 30 A5 a5 .
12. (a) Explain correlation and regression. {5)

(b} Calculate the correlation coafficient betwaen the dosa
and response using the following data and write its meaning :
(1)

Dose 1 2
Heaponse 16 20

B e
&
[
n
=

[AK 704]
13.  {(a) Define probability and write how it is nsed in tests of
Eignificance. (o)

(B} A new dregwas given to 150 cases and it cured 85% of
them. Canweconsider thatitis better than the usual drug which
cures 75%7 {100

14, {a) Stake the uses of scatter diagram. (3

b} A new treatment procedure wid dona on G0 cases
and another 50 comparable persons were gives the old treatment.
Test if there is any association between the type of treatmnent and

EUTvE. {12
MHew Ond
Treatment Trestment
Cured 45 30
Mot cured 15 R
J



OCTOBER -1997
[MS 705] Sub. Code : 4165

FIRET B.Pharm. DEGHEE EXAMINATION.
{Revised Regulations)

Paper V — MATHEMATICS AND BIOSTATISTICS
Timae : Three hours Maximurn ; 75 marks
Answer Sections A and B in sepnrate answer books,
SECTION A — (8 » § = 30 marks)
(MATHEMATICE)

Answer any S5 guestions.

1. Hesolve into partial [ractions ————
¥ =hx+3
1 1.4 1.4.7
2. Showthat 14—+——+ .=,
oW e AT T 4B 4Bz
1 o -2
3. Ir A=|2 2 4, show that A satisfies the
ll'_'l L] A

equation A° —2A+27 =0,
fEN 26 + fsin Ei.'?}] [oos3d — fshﬂﬂ]'
[cos3d 4 J'ainEi?}a [ma-!ﬂ+ﬁ&in4ﬂ]'=

gln 68

B. Express ———— in tarms of cosd .
gin

B. WWa={1223 4} #={3.456} and C={1,5.86,7, H}
verify that A (B~C) = (AuB)~(auc).

%, Shosw that
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[MS 705]
7. M%Fyt-_'[:x'—lrll}-

: Evalunaie ! aa " afw

Jdy Aty
w, Enlv-.d!'“#,

SECSTION B — {3 = 15 = 45 marka)
{BIOSTATISTICS)
Anawor any THHREE quastions.

10, {n) Discuss the wvaorious methods of collecting
Primary data (8}
M) A problem in statistics ks green o three students

1
A B.C whoso chances of sclving it are %'i'%
respectively. What is the probability that the problem will
be solved? m

11. Find the Mean, Madian and Moda! ages of the
married woman & firet child birth

Age ot tha hirth

aof first child - 13 14 17 16 17 18 10
Ho. of Marriad

winimar ; i d B2 143 190 258 433 141
Age ot the birth

offirscchild @ 20 21 22 23 24 25

Mo of MaTied

WY ; 355 6% 65 48 40 40

[MS 705]

12.  Frices of a particular commed ity in five yoars In two
witles are given below :

Price in city A €0 @@ 19 23 18

Price in city & 1o 20 18 312 15

From the sbove data find the city which has more
sable prices
13.  Calculate the co-afMiciant of correlation and obtain
the lines of regression fur tha follewing data :

X+ 1 r 4 3 4 5 8 T

¥: @ B e 12 11 13 14

Obtain an estimate of ¥ which should correspond w
tha avernge X'= 8.2

14. A certain drug was administered to 456 males, out of
e total T20 in a certain locality 1o test ks efMcacy sgalnes-
typhotid. The incidence of typhoid Is ahown below

Find out the allectivencss of the drug agalnst the
digaayn.

Infection Nolnfection Total

Administering the drug 144 312 459
Without Adminstering

the drug 192 T2 204
Toral 338 384 720
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[SV 705] Sub, Code : 4165
FIRST B.Pharm. DEGREE EXAMINATION.
(Ravisad Regulations]

MATHEMATICS AND BIOSTATISTICS
Time : Three hours Maximum : 76 marks

Answer Sections A and B in separate anawer books,
BECTION A — (6 » 5 = 30 marks)

Anawer any SIX guestions.
MMATHEMATICS)
L (2 4?2 149)/(x* 5 4 B).
12422 1242%,357
4+ -+
21 £2

a h gl|x
3. ﬁnliﬂrjt}[h b f][ﬂ}
g [ e]|=

4 Simplify (99403 i8in 40)" (cosb0 + isinBO)"
{coa 68 - (gin63)® (cosf - {sin@)?

T I-= mpr}
B. Evaluate [——— :
2 —+0l] - conqx

2, Ehow that 1% +

o= dTa.

xE«l

2
8. lfynm-‘[" "'1],11“:1 %_

7.  Integrats x° sinx with respect to x.
8.  PFind the Laplace tranaform of (sin® @).

9.  Solve :(y® + y)dx + (x* + x)dy = 0.

SECTION B — (3 « 16 = 45 marks)
Anawer any THREE queations.
(BIOSTATISTICS)

10. {a) Represent tha following daia by a Histogram and
hence find the mode ©
Marks in Enghish: 0-10 10=20 20-30 30-40 40-350

No. of students : & 20 36 15 &
(b) Calculate the coefficient of variation for the
following data :
Wages in Mo. of
Ra. labourars
0-10 12
10 = 20 18
20— 30 as
30 — 40 42
40 - B0 &0
50 = 80 46
&0 = T0 20
T0 - 80 8
Total 230
{8+ 8)

11, (a) Find the degres of correlation by using Karl
Poarsons formula for the following data of births and deaths
of 18 countriss during 1831 :

Birthrate : 44 24 18 83 32 18 18
Deathrats: 27 11 12 24 18 11 16

Birthrate : 20 18 40 20 18 &3 156 17
Deathrate;: 14 12 18 & g 23 12 11

1 [SV 705]
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(b} Find the two regression equations for the following
data and hence estimate the yield corresponding to the
rainfall 82",

Farameatar Yieldin  Rainfall
Livacrs  in inches
Meaan b 1 4] 1%.B
Stendard devistion Th.1 16
Correletion cosflicient 0.62
(7 +8)

12, (8} Ten mtudents are chosen at random fron & clase
and their heights weora found as undaer ¢

Btudent: 1 2 3 4 & 6 7T & 9 10
Height in
inchea: HO0 B2 63 &4 B BT B9 70 71 72

In the light of the above data can you confidently

gay that the mean height of the class ia 68 inches given
loag(9) = 2262

(Bl The coefficient of variation of two saries are B8%
and 88% and their standard deviations are 21.2 snd 18.8,
Find thelr means, (10 + 3

13. {a) 3 persons are randomly welected from a group of
20 graduates out of which & are pharmaciets. Find tha
probability that atleast one of the selected persons ia =
pharmasiat,

b} The probabilities of & husband and & wife surviving
for 30 more years are 0.8 and 0.9 respectively. Find tha
probability that after 20 years ;

(i) Both of them are aliva,
{i1) Atleast one of them is alive.
(iiiy Both are not alive. T+H)

[SV 705]

14, (a) Define the terma:
(i) Paramester
(i) Statistic
i) Ftandard svror
(ivl Hypothesis.

(b)) What is sampling? What are the different methods
of eampling? Mention the qualities of & good random sample.

B8+

1 [SV 705]
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[SM 706] Sub. Code : 4185

FIRST B.Pharm. DEGREE EXAMINATION.
{Revised Regulationa)
MATHEMATICE AND BIOSTATISTICS -

Time : Thres howrs Maximum : 75 markas
Answer Sections A ond B in separate answer books.
SECTION A — {8 = &= 30 marks)
MATHEMATICS)

Answer any BIX questions,

L (x-1fix+0i=zt s1),

|
Zx i 2x l+x
2. Show that ..[ ] - ( ]
1+12*3 1+.i:= * lwl—-.t'

2 =2 =4
3, If A -l-l 3 4 |.showthat Al=4
1 -2 -

. qhiz
(1 +li.'l!l.i +im%]
4. Bimplify [

, K. "
l+m—!-l - lmi]

Li 1=-gin®]
5. Evﬂuuhﬂ4!;1 {—-—-—u—-—mrﬂ_.a_.

8. Ifaz®+2hegy+by? =1, find ‘;—-:-,

T. Integrate zcos® z with reapect to x,
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8. Find the Laplace tranaform of (¢* = 13{t + 1)

8. Solve: {:i-n‘;—i+m-1

SECTION B — (3 = 15 = 45 marks)
(BIOSTATISTICS)
Angwer any THREE questions.

10.  {a) Draw an ogive (less than type) for the following
data and hence find the median
Mid points 0 15 20 25 30 35 40
Fraquen:iﬂ T 9 1B 268 10 4 3

{b) Compute the Quartile deviation for the following
dats glving the marks of 300 atudenta

bsrka bzlow 100 10=20 20-30 30— J40-50 BO-G0 G0-T0 pbove 70
M. of
abudanta ] 28 A T Bk 4 20 i}

(6 +9)

11, (&) Out of 660 babies born i & hospital in a year 262
are males, If on a day 6 babiea are born, what iz the
probabulity that

(i) Al the babies are females,

{ii} Two are females,

(iti) Mo female is born.

b} Define the terme

(il Sampling distribution,

(i) Variamos,

(iil) Standard ervor.

(iv) Probability. (8 +8)

2 [SM T05)

12. (@) Calculats the Spearman's rank correlation between
the marke awarded by two judges for eleven mingers in &
music competition. Comment on the reault ;

Judge A 24 29 18 14 30 19 27T 30 20 23 11,
Judge B a7 &% 18 28 231 27 1% W 8 11 1
{(b) Find the Median and Mode for the following data -

Weight in (kg) k34  35-30  40-44 4640 BO-84 8589  Gl—E4
Mo af studénts i & 12 18 14 3 a2

{7+ 8)
13. {8} Find the two regression equations for the following
data and estimate the values of y when x= 100 :
x T8 B3 a7 &3 & T g8 A7
y 126 137 166 112 107 136 123 108
(v} Compare Lthe coefficient of wvariation for the

foHowing distributiona and hence find which one of them is a
maore conaietent distribution.

Fay (Ra.) G000y GO0-B00 BO0— 1000 J00D-E3M 12001 400 Tokal
Factory A

(no. of 'l';ﬂ:ﬂl-'l:l i 1A 5 2 1 5l

(ne. of workers) 10 20 42 18 i) 100

(T+H)

14. (a)}) The reaults of IQ tests conducted to 5 studenis
before and after they were traimed are givem below. Test
whether the training was elfective, Given gy gy (4) = 4.6

Candidates I In m w w
[Q before training 110 120 123 132 126
1Q after training 120 118 1256 136 121
b} Write a brief note on Random sampling techniques.
(3+8)

3 [SM 705])
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[SG 705] Sub. Code : 4185
FIRST B.Pharm. DEGREE EXAMIMATIOM,
(BEavised Regulations)

Paper V — MATHEMATICS AND BIOSTATISTICS
Time : Three hours Maximum : 76 marks
Answer Sections A and B in separate answer booka.
SECTION A — (6 = 5 = 30 markas)
Answer any SLX questions.

(MATHEMATICS)
1. Bum to infimity :

2, 25 258
6 6-12 6.12-18

2. Show that
1 1 1
-3l 5 _#-1
=5
]+]+E._.... € +1
gl !
1 0 2]
3 HA=l2 2 4|, find the value of A* - 34 + 27,
002

4.  Differentiate =* from the first principles.

5. If nis a poaitive integer prove that

'-r.l-i-iurE}-.q-{]_iﬁ}l =g+l Eﬂ!?,

6.  Evaluate I.‘l‘l" dr .

2x+1

T, E\'Eluﬂt&jm ;
dy _xTe 2y
8. Ealva.dr v

8 Solve: %+j tan x =cos’x.

SECTION B — (3 x 15 = 45 marks)
Answer any THREE questions.
(BIOSTATISTICS)

10. Explain Primary and Secondary source of
collection of data.

11, Test the significance of the difference between
mean anxiety scores of two groups of patients for the
following dats :

Group A Group B
Size 100 200
Mean 56 61
5D 10 12

2 [SG T05]
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12, Find mean, median and mode from the following
table on protein intake/consumption

Protein intake number of families
anit/day (gm)

15-24 20
25-34 40
3544 100
45-64 20
A5-64 15
65-74 5

13, (a) Explain the terms
{i) Mutually exclusive
(ii) Hypothesis
{ii1) Typea of errors.

{b) The odds are 6 : 3 in favour of & person who is
now 30 years of age, living till he is 55 years. The odds
are 1 . 3 pgainst ancther person who is now 26 years of
age, living he iz 50 years. What ia the probability that

(i) Both of them
() Atleast one
{tit) Exastly one will live for 25 years hepnce?

3 [SG 705)

Ll4. PFind the two regression egquations from the
following data ;

X 15 38 31 19 10 25
Y b4 78 &5 64 &0 &6

Estimate the value of ¥ when X = 20 and the
value of x when ¥ = T0.

4 [SG TO5]
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[KA T05] Sub. Code : 4165
FIRST B.Pharm. DEGREE EXAMINATION.
{Revised Regulationa)

MATHEMATICS AND BIO-STATISTICS
Time : Three hours Maximum : 75 marka
Answer Sections A and B in separate answer books.
SECTION A — (6 = § = 30 marka)
(MATHEMATICS)
Answer any SIX of the following questions :

Br+b

1.  Resolve into partial fractions ; ———————.
(z-1y(x-2)

2.  Sum to infinity the series :

1 21 1L 0
A& If 4= 0 2 and B=|2 1 0 werify that
4 o1 3
{AH]T=F"AT-

4, I A={,3.578 B={14710}C={257T}
Verfy AJ(BAl={AJ B4
Ar(BuCi={Ar Byu{AnC).



OCTOBER - 1999

5. Expand sin58 in powers of aind and cosd.
f. Expresa the following in the modulus, amplitude
form 1= ""E.

1+t

7. Find % where * + ¥ =3y
dx
8.  Evaluate _Fm'n' x coax dx.

9 Solve ; (1+x')dx-xydy=0
SECTION B — (2 » 15 = 45 marks)
(BIOSTATIBTICS)
Answer any THREE of the queationa given below.

10. (a} Explain the primary and secondary scurces of
collection of data.

(b} Draw histogram apd frequency polygon for
the following data :
Wagea (Ra)} : 0-200 200-400 400-800 600-800 BO0-1000
Mo, of workers ; z 10 25 18 T

B+oy

11. Caleulats mean, median and coefficient of
variations from the following distribution.

Class . -8 816 16-24 24-32 J32-40
Frequency : 8 7 16 10 9
d+4+T
2 [KA T05)

12, (n)} Explain correlation and regreasion.

(h) Caleulate the coefficient of correlation and
obtain the regression line of x on ¥ for the following
data :

X: 1 2 3 4 i) B T
y: & B 10 12 11 13 14

G+ 7+3)
13. {a) Write notes on simple random sampling.

(b} From 25 tickets numbered 1 to 25, one ticket
is drawn at random. What is the probability that the
number on it, ia a mualtiple of 3 or 77 B+ 7)

14. (a} A new drug was given to 1560 cases and it
cured 85% of them. Can we consider that it is better
than the usual drug which cures T5%.

b In an experiment on immunization of cattle
againat ftuberculosiz, the following results werse
obtained :

Attacked Mot attacked

Inoculated 12 28

Mot inoculated 13 7

Examine the effect of the wvaccine in
controlling the disease. Note 5% level of ¥* with
1df= 384, {7+ 8)

4 [KA 705)
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Time : Three hours

4.

APRIL - 2000

Sub. Code : 4165
FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)

Papor V. — MATHEMATICS AND BIOSTATISTICS
Maximum : 75 marks

Answer Sections A and B in separate answar boolks.
SECTION A — (6% 5 = 30 marks)
(MATHEMATICS)
Answer any SIX questions,
x+1 ]
(x =1F(x +2)

2 2:b 2:-5-8
Sum to infinity E—E+E T T T

Resolve into partial fractions

I 2 3\
Fmdthmnvmnufthemnm:l? 4 ﬂJ

315

Given that A=00,135,8«(1.2470 and

C ={1,2,3,5.8}. Prove that :

5.

(&) (AvBIAC s(AnCHHB ACL
bl (ArnB)C =(AuCIn{BWC)

Expand cos4# in powers of mnd.

8. Simplify

(cos28 +isin26) -(cosdd -igindo*
(cos36 + isin 300° -(cos4 @ +isinde)?

—

. . VI
7. DrfT tiate
b 243

with respect tox.
A. Evaluate J-.'t s-ecix ax .
sl Wy
9 Solve: ¥y +x o e
SECTION B — (3 % L5 = 45 marks]
{BIOSTATISTICS)

Answer any THREE questions.

10. {a} What do you mean by classification of data?
[lescribe &ny two methods of classification with
example.

{b) Draw Histogram snd Frequency curve from
the following data :

Clags interval : 30 =40 40-80 50-60 @0-T0 7F0-80 &0-50
Frequency - 18 ¥y A5 21 15 ]

(7T +8)

2 [KB T05]
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Il. The iength of 200 parasgites in the human hlood
were measored to the nearest micron given in the
following table. Caleulate Mean, Median, Mode and
coefficient of variation.

Length :  10-10 20-28 30-39 4049 50-50 60-69 70-79

(3+3+3+8)

12. {a) What iz correlation” How iz it meagured™

by Calculate the correlation coefficlent and write
down the regression equations for the following data -

nw=6IX =42 I¥ =78, £X% =342 F¥* = 1080
and EXY =594,
14 +5+6)

13, {al Write notes on systematic random sample,

(bl A three digit nomber in chosen at rendom,
What i the probability that the sum of the digits i=
(i) 20 and (ii) 25. (6+9)

14. (a}) In alarge city 25% of a random sample of 300
school children had defective aye sight. In another large
vity 15% of a random sample of 1600 school children
had the same eye defect, Is thiz difference significant?
Chive that 5% F value i 1.96 and 1% Z value 1 2,58,

3 [KB T05]

(b) A eertain drug was adounistered 1o 456
males, out of & total 720 in & certain locality. The

incidence of typhoid ia given bolow -
Typheid
Infestion Ha Talal
fufection
Aden=sigred Uhe dragr 144 iz 455
Mo selloeomprternd the drog 182 | M
Total 14 ane 70

Find out the efficacy of the drug aganst the
Typhoid,
Given that 5% X¥ value for 1 41 = 384
(T + &)

4 KB 708)
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[KC 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATICON.
iRevised Regulations)

Paper V — MAHTEMATICE AND BIOSTATISTICE
Time : Three hours Maxinmum : 75 marks
Answer Sections A and B in separate answer boogs.
SECTION A — (6 = § = 30 marks)
(MATHEMATICS)

Answer any SIX questions.
1.  Resolve into partial fractions

e 4+ T
(x+1{zx+23ix-3)

2, Show that

1 1.4 1.4.7 i
'I S - e pae =
L i T
3. Ia=|>1 _IIMM’maTa.
01 2|

4, If a=f,3579}, B=084710} and
C = {2, 5, T} verify that

fal] Arm{BolM=AaA~nB)olaA~{
(b Ai{BAll={AOEI {4 O,

§. Find the real and imaginary parts of gl_l 1.:- 1
'y

.  Show that =32 cos" 0 - 32 cos® @ + Beosh.

sin G
o
7. Differentiate {(sin x)™" with respect to x.

8 Evaluate _f x* log x dx.

dy x4+2y-3

. 1 .
L s
SECTION B — (3 x 16 = 45 marks)
(BIOSTATISTICS)

Anawer any THREEE questions.

10, {a) Describe any two methods of collecting
primary data.

{b} Caleulgte Mean, Median and Mode for the
following data of 10 Hb levels

10.1,12.8,10.4,11.4, 8.7,10.2,11.4, 7.3, 10.3, 12.1.

(15)

11. (a) Calculate Quartile Deviation for the following
table of data on protein intake per day.

Protern intalke

per day 519 20-34 3649 S0-64 65-TO
MNumber of

families : & 20 45 24 5

2 [KC T05]
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(b} Caleulate the Combined Mean and Standard
deviation from the following data :

Group Mean  Standard Number

deviation
Boys T0 5] 300
Girls G 4 2060

{(8-+T)

12, Caleulate the cosflicient of eorrelation and cbtain
the: lines of regreasion for the following data

X 1 2 3 4 a9 6 7

F: 9 B 10 12 11 13 14

Dhtain an estimate of X when ¥ = 20, {(15)

13, (ay Writse down the statements of Addition and
Multiplication Theorems on probability for any twe
evienia.

ib} Find the probability of throwing 10 with two
dira.

{e)} Deseribe gtratified random asmpling method
(3= B =15)

14. {a) A new drug was given to 150 cases and it
cured BST of them. Can we consider that it is better
than the usual drug which cures 75%. Given 5% £ value
13 1.96 and 1% Z value is 2,58,

3 [KC 7051

() Test for the sgnificance difference between
the mean anxiety scores of twa groups of patients for the
following data :

Group
A B
Number 100 200
Mean andiety scores b Gl
8.1}, scores Ly 10
% & value iz 1.96
1% & value is 2.58 (7 +8)

4 [KC 705]





